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QUESTION 1

Which FabricPool policy would you apply only on a SnapMirror destination volume?
A. backup

B. destination

C. auto

D. manual

Correct Answer: A
Reference: https://blog.netapp.com/cut-costs-on-your-performance-tier-storage-with-netapp-fabricpool/

QUESTION 2

Which two performance threshold policies in OnCommand Unified Manager are configurable? (Choose two.)
A. user-defined

B. volume

C. system-defined

D. dynamic

Correct Answer:. AB

QUESTION 3

Click the Exhibit button.

I|rver Interface Admin/Oper Address/Mask Neode Bort Home Hele
CDOTS3 CDOTS3-01 mgmtl up/up 192.168.134.162/24 CDOT93-01 eld Truge node-mgmc
CDOT33-02 mgmtl up/up 192.168.134.163/29 CDOT93-02 eld true node-mgmt
cluster mgmc up/up 192.168.134.161/24 CDOT93-01 edd true cluster-mgmt
Clu=ster
CDOT835-01 clusl up/up 169,254 246.126/16 CDOTS3-01 ela true cluster
CDOT23-01 cluaz up/up 169.254.246.136/16 CDOT23-01 el true cluster
CDOT33-02 clusl up/up 169.254.69.154/16 CDOT93-02 ela true cluster
CDOT83-02 clusz up/up 169.254.69.164/16 CDOTS83-02 elb true clustesr
InterCluster B
CDOT93-01 icl up/up 192.168.134.200/294 CDOT33-01 ele true intercluater
CDOT93-02 icl up/up 1%2.168.134.201/24 CDOT33-02 ele true intercluster
SVM
CDCTS5-01 up/up 192.168.134.100/24 CDCT93-01 elf true data
CDCTS3-02 up/up 192.168.134.201/24 CDOT23-02 elf true data

An administrator needs to configure ports for peering. Referring to the exhibit, which ports should be used?
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A. CDOT93-01:e0a and CDOT93-02:e0a
B. CDOT93-01:e0e and CDOT93-02:e0e
C. CDOT93-01:e0d and CDOT93-02:e0d
D. CDOT93-01:e0f and CDOT93-02:e0f

Correct Answer: D

QUESTION 4

On your customer\\'s AFF A700, there are multiple volumes within the aggregate aggrl. Within aggrl, volumes voll,
vol2, and vol3 store similar data, and volumes vol4 and vol5 store unique data. In this scenario, which feature would
improve storage efficiency with the data stored in volumes voll, vol2, and vol3?

A. data compaction

B. postprocess compression

C. inline aggregate-level deduplication

D. inline compression

Correct Answer: C

QUESTION 5

What are two advantages of creating small RAID groups inside an aggregate? (Choose two.)
A. maximized storage space

B. decreased risk of multiple disk failure

C. shorter reconstruction time

D. additional available spare drives

Correct Answer: BC

Reference: https://library.netapp.com/ecmdocs/ECMM1277794/html/smg/GUID-
EE30CDA9-095F-4DD19A29-BB9FOES5DB4F.html

QUESTION 6
Which command shows the data compaction savings for an aggregate?
A. storage aggregate show-space

B. storage aggregate show-efficiency
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C. volume efficiency show
D. storage efficiency show
Correct Answer: B

Reference: https://www.netapp.com/us/media/tr-4476.pdf

QUESTION 7

Which two interface group types enable the load balancing algorithm to be used? (Choose two.)
A. load balance mode

B. QoS mode

C. dynamic multimode

D. static multimode

Correct Answer: CD

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
nmg%2FGUIDF4924A4C-9B7B-4281-BD07-A2F195BAC42D.html

QUESTION 8

An administrator created an SVM for a VMware vSphere 6.5 cluster. For the SVM, the NFS protocol was enabled. Data
LIFs were configured with jumbo frames. The nfsO1 volume was created and mounted as

junction path /nfs01. A VMware export policy that allowed all the hosts of the cluster was applied to the
SVM. However, the hosts are unable to mount the volume.

In this scenario, what caused the problem?

A. NFS v3 is not compatible with ESXi hosts.

B. The volume is not thin provisioned.

C. The maximum transmission unit (MTU) was not set properly on the ESXi hosts.

D. The default export policy needs to allow reads from the ESXi hosts.

Correct Answer: C

QUESTION 9
A customer installed an ONTAP cluster. The customer wants to provide data access to host computers

and end users.
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Which three tasks are required? (Choose three.)
A. Create a Quality of Service (QoS) policy.

B. Create an SVM.

C. Create a LIF.

D. Create an IPspace.

E. Create a volume.

Correct Answer: BCE

QUESTION 10

Which three tasks are SVM administrators allowed to perform? (Choose three.)
A. Configure name services.

B. Configure an aggregate.

C. Monitor jobs.

D. Configure data protocols.

E. Create a LIF.

Correct Answer: ABC

Reference:
https://library.netapp.com/ecmdocs/ECMP1368704/html/GUID-4CD73656-6E82-4F77-84F2FBD148932049.html

QUESTION 11

A storage administrator currently has an 8-node FAS8200 cluster with CIFS, NFS, and iSCSI licenses
installed.

In this scenario, how many additional nodes are supported?

A. 3

B.6

C. 4

D.1

Correct Answer: C
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QUESTION 12

You are running a FAS8200 system with ONTAP 9.5 with a Flash Pool aggregate. You have an SVM root
volume and two volumes (Voll and Vol2).

In this scenario, which two caching technologies would be applied to which volumes? (Choose two.)

A. Flash Pool can be applied to all volumes including the SVM root volume.

B. FlashCache can be applied to all volumes including the SVM root volume.

C. Flash Pool can be applied to all volumes except the SVM root volume.

D. FlashCache can be applied to all volumes except the SVM root volume.

Correct Answer: AB

QUESTION 13

Which command enables ONTAP storage failover?

A. storage failover modify -enabled false -node nodename
B. storage failover modify —enabled true —node nodename
C. cluster ha modify -configured false

D. storage failover modify —-mode ha -node nodename
Correct Answer: B

Reference: https://library.netapp.com/ecmdocs/ECMP1367947/html/GUID-
C5815885-53E8-4141-BDOC3ED1DBBDOE6G4.html

QUESTION 14

Click the Exhibit button.
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11> vserver export-policy rule create —vserver wsl —pelicyname test

—-clientmatch 10.64.18.0/24 -rorule any -rwrule any -protococl nfs3 —-ruleindex 1 -
ancn 70

The rule created above is werified by using the command that follows:

::> vserver export-policy rule show

Vserver Policy Rule Zccess Client RO
Name Index Protaocol Match Rule
vsl test 1 nfs3 10.64.18.0/24 any

An export policy rule for a volume is set by using the command shown in the exhibit.

If clients with IP addresses 10.64.19.0 and 10.64.18.20 accessed the export, what is the outcome?
A. Neither client is given access.

B. Client 10.64.19.0 is given access but 10.64.18.20 is not given access.

C. Client 10.64.19.0 is not given access but 10.64.18.20 is given access.

D. Both clients are given access.

Correct Answer: C

QUESTION 15

Which failover policy is set by default on an iSCSI LIF?
A. local-only

B. broadcast-domain-wide

C. disabled

D. sfo-partner-only

Correct Answer: A
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